o S56 0.7
x 0.7
56
0.3 184 18
22 4 1
)
Is 0.3 0.3 Is 0.7] 0.7 1Is
s53 | RC 3 659 o (H22)
s55 | RC 3| 2,369 o (H22)
H22 S 1 217
s52 | RC 1 770 o (H22)
s54 | RC 2 405 « )
s57 | RC 2| 1,400 « )
s52 | RC 2 756 (H21-H22)
s50 | RC 3| 1,732 « )
s51 | RC 1 702 (H21-H22)
s56 | RC 3| 1,694 o (H22)
H5 RC 3 757
s61 | RC 3| 2,920
H1 RC 1 938




)

Is 0.3 [0.3 Is 0.7] 0.7 Is
s44 s 1 225

s45 | Re 2 432 (H22)
s54 | RC 3| 2,620 o (H22)
H11 s 3 30

H2 RC 2| 1,616

s50 | RC 3| 2,206 )

s53 | RC 3| 1,227 (H21-H22)
sa7 | RC 3| 2,206

s56 | RC 2 468

s56 | RC 2 108

s51 s 2 952




